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B.TECH.
(SEM 5*) THEORY EXAMINATION 2013-19
DATABASE MANAGEMENT SYSTEM

Time: 3 Hours Total Marks: 70
Nete: 1. Attempt all Sections.

SECTION A
1. Attempt all questions in brief. 2x7=14

a.  Explain the differcnce between a weak and a strong entitv set with example,
b.  Discuss three level of abstractions or schemas architecture of DBMS.
c Define constraint and its types in DBMS.

d.  Explain the difterence between physical and l()01ca1 data independence with
example.

What are the ditferent tvpes of anomalics assouated with database”

Write the difference between super key and candidate key.

g.  Why do we normalize database?
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GEC [ION B S
2. Attempt any three of the follayfng \"’7 % 3 =121

a. Define Transaction andcxplam it properties with suitable cmmple

b. What is schedyle?” What are its types? Explain K “serializable and
cascadeless sc%mfulu with suitable example of each.

c What is log file? Write the steps for log, based redevery of a system with
suitable examplc.

d What is deadlock? What are necessary conditions for it? How it can be
detected and recovered?

e. Draw overall structure of DBMS and cxplam 115 components ia bricf.
SECTION €
3. Attempt any one part of the folluw\in‘g:‘ 7x1=

(a} Compare Generalization, S‘pF‘gialization and aggregation with suilable examples.
tb)  Write difference bemeen &ross Join, Natural Join, left outer join and right outer
Join with suitable exampie
4. Atterpt any one part of the following: Iy1=7
(a)  Define partial functional dependency, Consider the following two sets of
functional dependencics F= {A ->C, AC ->D. E ->AD_E ->H} and
G = {A ->CD, Il ->AH}. Check whether or not they are equivalent.
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(b)  Define Minimal Cover. Suppose arelation R (A,B,C) has FD set F =
{A--B, B—(C, A—(C, AB—B, AB—C, AC—B} convert this FD set into
minimal cover.

Attempt any one part of the following: 7x1=7
(a) Explain two phase locking protocol with suitable example.
(b) Write the salient features of graph based locking protocol with suitable example

Attempt any one part of the foliowing: 7x1=7

{a) Which of the following schedules are conflicts senalizable? For each serializable
schedule find the equivalent schedule.

ST rl(x): r3(x); w3(x); wi(x); r2(x)
S2:13(x): 120x); w3(xi; r1(x); wi(x)
S3:rlx)y r2(x); r3(yy: wi(x): 12(z); r2(y); w2(y)

(b) Write the difterence between 3INF and BCNF. Find ncrmal form  of relation
R(A.B.C.D,E) having FD set F={ A->B,BC->E,EB->A}.

Attempt any one part of the following: B 7x1=7

(a) Suppose there are two relations

R(A.B.C), 8(D.E F)

Write TRC and SQI. for tlu;_‘f, Howing RAs
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(hy What do you mean by multi granularity? How tbe”r:onchrrenc_v is matntained

in this case. Write the concurrent transactions. for the {ollowing graph,
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T1 wants to access ltem C in read mode COMPUTER GEEK
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T2 wants to access item D in Exclusive mode
T3 wants to read all the children of item B

T4 wants to access all items in read mode
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